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PART A: Vocabulary
Directions: Questions 61-70 are incomplete sentences. Beneath each sentence you will see four words

or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the

sentence. Then mark your answer sheet.

61- Studies show that physical inactivity increases with age and is more common among those with lower
income and less ............ .

1) lifestyle 2) education 3) frequency 4) addition
62- According to the study, people who are ............ get sick more often than people who are in a normal
state of mind.
1) depressed 2) cultural 3) countable 4) probable
63- Familiarity with a topic you are reading about in a second language makes it easier to ............ the
meaning of new vocabulary.
1) count 2) reply 3) consider 4) guess
64- Alcohol thermometers can ............ lower temperatures than mercury thermometers because mercury
freezes at minus 38.8 degrees Celsius while alcohol freezes at minus 115 degrees.
1) broadcast 2) exchange 3) measure 4) receive
65- I had a long discussion with my wife about our ............ and we decided we really need to see a
counselor.
1) relationship 2) identity 3) experiment 4) attention
66- The scientist discovered a drug which is quite successful in ............ certain types of cancer.
1) happening 2) following 3) including 4) preventing
67- The doctor is worried about my grandfather’s medical condition and has warned us about the
possibility of a heart ............ .
1) attack 2) pressure 3) function 4) shape
68- Because of the traffic jam, it’s hard fto ............ how long it will take to get to the train station.
1) predict 2) expect 3) compare 4) appear
69- The slower the metabolism, the more a person has to cut back on calories in order to keep from ............ weight.
1) making 2) taking 3) gaining 4) holding
70- Youcan’t...... the effect of your salary increase without considering the increase in the cost of living.
1) measure 2) improve 3) balance 4) prevent

PART B: Cloze Test

Directions: Questions 71-75 are related to the following passage. Read the passage and decide which
choice, (1), (2), (3), or (4), best fits each space. Then mark your answer sheet.

The national sport of Japan is sumo wrestling. It ...71... large crowds and is shown on television. The two
contestants try to push ...72... out of a small ring. Success depends on strength and ...73..., so sumo wrestlers
go to schools where they train and follow a special ...74... . Successful wrestlers ...75... extremely rich and
famous. The sport is traditional and follows an elaborate pattern controlled by officials in decorative costume.

71- 1) mentions 2) intends 3) refers 4) attracts
72- 1) each other 2) another 3) each another 4) together
73- 1) measure 2) amount 3) weight 4) pattern
74- 1) diet 2) case 3) type 4) mind

75- 1) to become 2) becoming 3) may become 4) are become
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PART C: Reading Comprehension
Directions: In this part of the test, you will read a passage. The passage is followed by five questions.

Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your answer sheet.

These days, more and more children are overweight. A name for being extremely overweight is obese.
Why is this happening? Doctors, teachers, and other adults believe that children are not getting the right
amount of exercise and are not eating the right kinds of food.

In the past, children used to be more active. In the past, there was a lot of work to be done. Children helped
on the farms and in the factories. Children didn’t have much time to sit around. Today children go to school and
come home to watch the television or play video games. Too many of their activities involve sitting and not being
active enough. Children are not getting enough exercise, such as running, walking, or riding a bike.

Another main reason for children being overweight is the types of food they eat. More and more families
are eating at restaurants or fixing quick foods that are loaded with calories. These types of food begin to add
up day after day. Children are eating too many of the wrong foods and not enough of the right foods.

Some of the foods that children should be eating include fruits and vegetables, dairy, grains and cereals, and
meat and poultry. These types of foods can help children maintain their weight and help the body fight disease.

76- The underlined word “their” in the second paragraph refers to .............
1) factories 2) children
3) watching and playing 4) video games
77- Which of the following is NOT a reason why children don’t eat enough healthy foods?
1) Children eat more prepared foods than homemade foods.
2) Children eat out at restaurants more than they used to.
3) Children weigh more than they used to.
4) Unhealthy foods are more readily available these days.
78- What is the meaning of the word “maintain” in this passage?
1) increase 2) include part of
3) think about 4) keep the same
79- Which of the following statements would be the best one to be added to the end of the passage?
1) Children need to be taught about the foods they eat and the food choices they make.
2) Parents of obese children are also obese and overweight.
3) Doctors are finding that more and more children are obese.
4) Scientists are concerned about the food children eat.
80- Which of the following could be a good title for the passage?
1) Types of Foods Available to People
2) Childhood Obesity in Today’s World
3) Why Are Children Not Active Enough?
4) How to Encourage Children to Exercise



